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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 14 gSaA  
 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 14 questions. 
•••• iz'u-i= esa lcls Åij fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
 The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 

examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % 

    (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

 (ii) bl ç'u-i= esa 14 ç'u gSa] tks fd pkjpkjpkjpkj [k.Mksa % ^v*^v*^v*^v*] ^̂̂̂cccc****] ^̂̂̂llll****    ,oa    ^̂̂̂nnnn**** esa ck¡Vs x, gSa % 

  [k.M ^v* %[k.M ^v* %[k.M ^v* %[k.M ^v* %    bl [k.M ds ç'u la[;k 1 esa pkyhlpkyhlpkyhlpkyhl (1 ls 40) cgqfodYih; ç'u gSaA çR;sd ç'u 
1 vad dk gSA 

  [k.M ^[k.M ^[k.M ^[k.M ^cccc* %* %* %* %    bl [k.M esa ç'u la[;k 2 ls 6 rd dqy ik¡pik¡pik¡pik¡p ç'u gSaA çR;sd ç'u 2 vadksa dk gSA 

  [k.M ^[k.M ^[k.M ^[k.M ^llll* %* %* %* %    bl [k.M esa ç'u la[;k 7 ls 11 rd dqy ik¡pik¡pik¡pik¡p ç'u gSaA çR;sd ç'u 3 vadksa dk 
gSA 

  [k.M ^[k.M ^[k.M ^[k.M ^nnnn* %* %* %* %    bl [k.M esa ç'u la[;k 12 ls 14 rd dqy rhurhurhurhu ç'u gSaA çR;sd ç'u 5 vadksa dk 
gSA 

 (iii) bl ç'u-i= esa lexz :i ls dksbZ fodYi ugha gS] fQj Hkh 5 vadksa okys nksnksnksnks ç'uksa esa vkUrfjd 
p;u çnku fd;k x;k gSA ,sls ç'uksa esa ls vkidks fn, x, p;u esa ls dsoy ,d,d,d,d gh ç'u djuk gSA 

General Instructions :  

    (i) All questions are compulsory. 

 (ii) This question paper consists of 14 questions which are divided into four 

Sections :'A', 'B', 'C' and 'D' : 

  Section 'A' : Question No. 1 of this Section has forty (1 to 40) Multiple Choice 

Questions. Each question carries 1 mark. 

  Section 'B' : This Section contains five questions from Question Nos. 2 to 6, 

each of 2 marks. 

  Section 'C' : This Section contains five questions from Question Nos. 7 to 

11, each of 4 marks. 

  Section 'D' : This Section contains three questions from Question Nos. 12 to 

14, each of 5 marks. 

 (iii) There is no overall choice. However, an internal choice has been provided in 

two questions of 5 marks. You have to attempt only one of the given choice in 

such questions. 
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[k.M & v[k.M & v[k.M & v[k.M & v 

SECTION – A 

1. (1) ifjes; la[;kvksa ds laxzg dks vaxzsth ds fdl 'kCn }kjk izdV djrs gSa \ 1 

 (A) N (B) W 

 (C) Q (D) Z 

 By which English alphabet the collection of rational numbers is denoted ?  
 (A) N (B) W 

 (C) Q (D) Z 

 (2) fuEufyf[kr esa ls fjDr LFkku Hkfj;s % ...........)( =
nma  1 

 (A) nma +  (B) nma −  

 (C) mna  (D) amn )(  

 Fill in the blank from the following : ...........)( =
nma  

 (A) nma +  (B) nma −  

 (C) mna  (D) amn)(  

 (3) 1 vkSj 2 ds chp dh ifjes; la[;k gksxh % 1 

 (A) 0.5 (B) 
6

1
 

 (C) 
7

1
 (D) 

2

3
 

 The rational number between 1 and 2 will be : 

 (A) 0.5 (B) 
6

1
 

 (C) 
7

1
 (D) 

2

3
 

 (4) fdUgha nks nh gqbZ ifjes; la[;kvksa ds chp fdruh ifjes; la[;k,¡ gksrh gSa \ 1 

 (A) 2 (B) 1 

 (C) vifjfer :i ls vusd (D) 0 

 How many rational numbers between any two given rational numbers are 
there ? 

 (A) 2 (B) 1 

 (C) Infinitely many (D) 0 
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 (5) fuEufyf[kr la[;kvksa esa dkSu-lh vifjes; la[;k gS \ 1 

 (A) 1.101001000…….. (B) 0.376 

 (C) 0.7474 (D) 225  

 Which of the following numbers is an irrational number ? 

 (A) 1.101001000…….. (B) 0.376 

 (C) 0.7474 (D) 225  

 (6) fuEufyf[kr chth; O;atdksa esa dkSu-lk O;atd ,d cgqin gS \ 1 

 (A) 
x

x
1

+  (B) 3+x  

 (C) 3+x  (D) 63
1

+x  

 Which expression is a polynomial from the following algebraic expressions ? 

 (A) 
x

x
1

+  (B) 3+x  

 (C) 3+x  (D) 63
1

+x  

 (7) cgqin 832 22 yyy +−−  dh ?kkr gksxh % 1 

 (A) 8 (B) 3 

 (C) 2 (D) 4 

 The degree of polynomial 832 22 yyy +−−  will be : 

 (A) 8 (B) 3 

 (C) 2 (D) 4 

 (8) cgqin 322 xx +−  esa 2x  dk xq.kkad gksxk % 1 

 (A) 1 (B) –1 

 (C) 2 (D) 3 

 The coefficient of 2x  in the polynomial 322 xx +−  is : 

 (A) 1 (B) –1 

 (C) 2 (D) 3 
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 (9) cgqin 6645 26
+−− yyy  esa fdrus in gSa \ 1 

 (A) 6 (B) 5 

 (C) 4 (D) 2 

 How many terms are there in polynomial 6645 26
+−− yyy  ? 

 (A) 6 (B) 5 

 (C) 4 (D) 2 

 (10) cgqin 12)( += xxp  dk 'kwU;d gksxk % 1 

 (A) 
2

1−  (B) 
2

1  

 (C) 2 (D) 1 

 The zero of polynomial 12)( += xxp  will be : 

 (A) 
2

1−  (B) 
2

1  

 (C) 2 (D) 1 

 (11) fjDr LFkku Hkfj, % 222 ..........)( yxyx ++=+  1 

 (A) 3xy (B) 2x 

 (C) 2xy (D) 2y 

 Fill in the blank : 222 ..........)( yxyx ++=+  

 (A) 3xy (B) 2x 

 (C) 2xy (D) 2y 

 (12) K dk eku gksxk] tcfd x = 2, y = 1 lehdj.k 2x + 3y = K dk ,d gy gS % 1 

 (A) 2 (B) 4 

 (C) 9 (D) 7 

 The value of K will be, if x = 2, y = 1 is a solution of the equation 2x + 3y = K :   

 (A) 2 (B) 4 

 (C) 9 (D) 7 
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 (13) jSf[kd lehdj.k 632 =+− yx  dks 0=++ cbyax  ds :i esa O;Dr djds C dk eku 
crkb, % 1 

 (A) –2 (B) –6 

 (C) 3 (D) 6 

 Express the linear equation 632 =+− yx  in the form of 0=++ cbyax  

and indicate the value of C :  

 (A) –2 (B) –6 

 (C) 3 (D) 6 

 (14) ,d uksVcqd dh dher ,d dye dh dher ls nks xquh gSA bl dFku dks fu:fir djus ds fy, 
nks pjksa okyk ,d jSf[kd lehdj.k fyf[k,A 1 

 (A) 02 =+
y

x
 (B) 02 =+ yx  

 (C) 02 =+ yx  (D) 02 =− yx  

 The cost of a notebook is twice the cost of a pen. Write a linear equation in 

two variables to represent this statement. 

 (A) 02 =+
y

x
 (B) 02 =+ yx  

 (C) 02 =+ yx  (D) 02 =− yx  

 (15) ,d jSf[kd lehdj.k ij rc dksbZ izHkko ugha iM+rk tcfd lehdj.k ds nksuksa i{kksa esa leku 
la[;k tksM+h ;k ?kVkbZ tkrh gSA ¼lR;lR;lR;lR;@vlR;vlR;vlR;vlR;    ½  1 

 The solution of a linear equation is not affected when the same number is 

added or subtracted from both the sides of the equation. (True/False ) 

 (16) fuEufyf[kr esa lehdj.k 42 =− yx  dk gy gksxk % 1 

 (A) (0, 2) (B) (0, 4) 

 (C) (4, 0) (D) (2, 0) 

 The solution of the equation 42 =− yx  from the following will be : 

 (A) (0, 2) (B) (0, 4) 

 (C) (4, 0) (D) (2, 0) 
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 (17) nks pjksa okys jSf[kd lehdj.k ds vf/kdre fdrus gy gksrs gSa \ 1 

 (A) ,d (B) nks 

 (C) rhu (D) vifjfer :i ls vusd 

 How many solutions a linear equation in two variables can have at most ? 

 (A) One (B) Two 

 (C) Three (D) Infinitely many 

 (18) ,d js[kk dk og Hkkx ftlds nks var fcUnq gksa] dgykrk gS % 1 

 (A) js[kk (B) fdj.k 

 (C) js[kk[k.M (D) 'kh"kZ 

 A part of a line with two end points is called as : 

 (A) Line (B) Ray 

 (C) Line Segment (D) Vertex 

 (19) 'kh"kkZfHkeq[k dks.k cjkcj gksrs gSa] ;fn nks js[kk,¡ ijLij ………. gksaA 1 

 (A) izfrPNsnh (B) lekUrj 

 (C) yac (D) buesa ls dksbZ ugha  

 If two lines ………….. each other, then the vertically opposite angles are 

equal.  

 (A) Intersecting  (B) Parallel 

 (C) Perpendicular (D) None of these 

 (20) ,d U;wu dks.k dk eki gksrk gS % 1 

 (A) 0° ls 90° ds chp (B) 90° ls 180° ds chp 

 (C) 180° ls 270° ds chp (D) 270° ds Åij 

 The measure of an acute angle is : 

 (A) Between 0° and 90° (B) Between 90° and 180° 

 (C) Between 180° and 270° (D) Above 270°  
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 (21) ;fn ,d fdj.k ,d js[kk ij [kM+h gks] rks bl izdkj cus vklUu dks.kksa dk ;ksx gksrk gS % 1 

 (A) 360° (B) 180° 

 (C) 120° (D) 90° 

 If a ray stands on a line, then the sum of two adjacent angles so formed 

will be : 

 (A) 360° (B) 180° 

 (C) 120° (D) 90° 

 (22) f=Hkqt dh fdUgha nks Hkqtkvksa dk ;ksx rhljh Hkqtk ls ……….. gksrk gSA 1 

 (A) NksVk (B) cM+k 

 (C) cjkcj (D) buesa ls dksbZ ugha  

 Sum of any two sides of a triangle is ……….. than the third side. 

 (A) Smaller (B) Greater 

 (C) Equal (D) None of these 

 (23) laiw.kZ o`Ùk dh yackbZ dks dgrs gSa % 1 

 (A) O;kl (B) ifjf/k 

 (C) f=T;k (D) pki 

 The length of the complete circle is called as : 

 (A) Diameter (B) Circumference  

 (C) Radius  (D) Arc 

 (24) fdlh f=Hkqt ds rhuksa dks.kksa dk ;ksx gksrk gS % 1 

 (A) 120° (B) 180° 

 (C) 270° (D) 360° 

 The sum of angles of a triangle is : 

 (A) 120° (B) 180° 

 (C) 270° (D) 360° 
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 (25) fdlh ledks.k f=Hkqt dk {ks=Qy gksrk gS % 1 

 (A) 
2

1
 × vk/kkj × Å¡pkbZ (B) 2 × vk/kkj × Å¡pkbZ 

 (C) 
3

1
 × vk/kkj × Å¡pkbZ (D) 3 × vk/kkj × Å¡pkbZ 

 The area of right triangle is : 

 (A) 
2

1
 × Base × Height (B) 2 × Base × Height 

 (C) 
3

1
 × Base × Height (D) 3 × Base × Height 

 (26) ;fn a, b vkSj c f=Hkqt dh Hkqtk,¡ gSaA f=Hkqt dk v/kZ-ifjeki gksxk % 1 

 (A) 
2

cba
S

−+
=  (B) 

2

cba
S

−−
=  

 (C) 
2

cba
S

++
=  (D) 

3

cba
S

++
=  

 If a, b and c are sides of a triangle. The semi-perimeter of triangle will be : 

 (A) 
2

cba
S

−+
=  (B) 

2

cba
S

−−
=  

 (C) 
2

cba
S

++
=  (D) 

3

cba
S

++
=  

 (27) fdlh ?ku dk i`"Bh; {ks=Qy D;k gksxk ftldh Hkqtk a gks \ 1 

 (A) 6a3 (B) a3 

 (C) 5a2 (D) 6a2 

 What will be the surface area of a cube whose side is a ? 

 (A) 6a3 (B) a3 

 (C) 5a2 (D) 6a2 
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(28) ?kukHk dk vk;ru Kkr djus dk lw= gksxk % 1 

 (A) l + b + h (B) lbh 

 (C) l2 b2 h2 (D) 2lbh 

 The formula to find out the volume of cuboid will be :  

 (A) l + b + h (B) lbh 

 (C) l2 b2 h2 (D) 2lbh 

 
(29) ,d yaco`Ùkh; 'kadq dk oØ i`"Bh; {ks=Qy D;k gS ftldh fr;Zd Å¡pkbZ 10 lseh gS vkSj vk/kkj 

dh f=T;k 7 lseh gS \ 1 

 (A) 220 lseh2 (B) 110 lseh3 

 (C) 132 lseh3 (D) 232 lseh3 

 What is the curved surface area of a right circular cone whose slant 

height is 10 cm and base radius is 7 cm ? 

 (A) 220 cm2 (B) 110 cm3 

 (C) 132 cm3 (D) 232 cm3 

 (30) ,d v/kZxksys ftldh f=T;k r gS, dk oØ i`"Bh; {ks=Qy gksrk gS %  1 

 (A) 4πr2 (B) 3πr2 

 (C) 2πr2 (D) 
3

4
πr3 

 The curved surface area of a hemisphere whose radius is r, will be : 

 (A) 4πr2 (B) 3πr2 

 (C) 2πr2 (D) 
3

4
πr3 
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 (31) yac o`Ùkh; 'kadq dk vk;ru gksxk ftldh f=T;k 7 lseh o Å¡pkbZ 3 lseh gks % 1 

 (A) 154 lseh3 (B) 154 lseh2 

 (C) 282 lseh2 (D) 284 lseh 

 The volume of a right circular cone whose radius 7 cm and height 3 cm 
will be : 

 (A) 154 cm3 (B) 154 cm2 

 (C) 282 cm2 (D) 284 cm 

 (32) f=T;k r okys xksys dk vk;ru gksxk % 1 

 (A) 4πr (B) 4πr2 

 (C) 
3

4
πr2 (D) 

3

4
πr3 

 The volume of a sphere with radius r will be : 

 (A) 4πr (B) 4πr2 

 (C) 
3

4
πr2 (D) 

3

4
πr3 

 (33) vk¡dM+ksa ds vf/kdre vkSj U;wure ekuksa ds varj dks dgrs gSa % 1 

 (A) ek/; (B) ek/;d 

 (C) ifjlj (D) cgqyd 

 The difference of the highest and lowest values in the data is called as : 

 (A) Mean (B) Median 

 (C) Range (D) Mode 

 (34) oxZ varjky 20 – 30 esa mifj oxZ lhek D;k gS \ 1 

 (A) 50 (B) 20 

 (C) 10 (D) 30 

 What is the upper class limit in class interval 20 – 30 ?  

 (A) 50 (B) 20 

 (C) 10 (D) 30 
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 (35) vk¡dM+ksa 40, 20, 36, 60, 56, 88, 50, 80 dk ifjlj gksxk % 1 

 (A) 40 (B) 68 

 (C) 56 (D) 88 

 The range of data 40, 20, 36, 60, 56, 88, 50, 80 will be : 

 (A) 40 (B) 68 

 (C) 56 (D) 88 

 (36) fdlh oxZ varjky dk oxZ fpg~u gksrk gS % 1 

 (A) 
2

lhekÅijh
 (B) 

2

lhekfuEu
 

 (C) 
2

lhekfuEulhekÅijh −
 (D) 

2

lhekfuEulhekÅijh +
 

 The class mark of a class interval is : 

 (A) 
2

LimitUpper
 (B) 

2

LimitLower
 

 (C) 
2

LimitLowerLimitUpper −
 (D) 

2

LimitLowerLimitUpper +
 

 (37) iklk Qsadus ij le la[;k izkIr djus ds fy, ?kVuk ds ifj.kke D;k gksaxs \ 1 

 (A) 1, 2, 3 (B) 2, 4, 6 

 (C) 1, 3, 5 (D) 2, 3, 5 

 What will be the results to get even numbers by throwing a die once ? 

 (A) 1, 2, 3 (B) 2, 4, 6 

 (C) 1, 3, 5 (D) 2, 3, 5 

 (38) ,d flDdk mNkyus ij izkIr dqy ifj.kkeksa dh la[;k gksxh % 1 

 (A) 6 (B) 4 

 (C) 3 (D) 2 

 The number of results by tossing a coin will be : 

 (A) 6 (B) 4 

 (C) 3 (D) 2 
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 (39) ,d flDdk mNkyus ij iV izkIr djus dh izkf;drk gksrh gS % 1 

 (A) 
3

1  (B) 
2

1  

 (C) 
3

2  (D) 
6

1  

 The probability of getting a tail by tossing a coin : 

 (A) 
3

1  (B) 
2

1  

 (C) 
3

2  (D) 
6

1  

 (40) fdlh ?kVuk ds ?kVus dh izkf;drk ……….. vkSj ………… ds chp esa gksrh gSA fjDr LFkku 
Hkfj;s % 1 

 (A) –1, 1 (B) 1, 0 

 (C) 0, 1 (D) 1, 2 

 The probability of an event lies between ………… and ……….. . Fill in the 

blanks : 

 (A) –1, 1 (B) 1, 0 

 (C) 0, 1 (D) 1, 2 

[k.M & c[k.M & c[k.M & c[k.M & c 

SECTION – B 

2. ljy dhft, % 2 

5
1

3
2

2.2  

Simplify : 

5
1

3
2

2.2  

3. lh/ks xq.kk fd, fcuk 103 × 107 dk eku Kkr dhft,A 2 

Evaluate 103 × 107 without multiplying directly.  

4. laiwjd dks.k dks ifjHkkf"kr dhft,A blds dksbZ nksnksnksnks mnkgj.k Hkh nhft,A 2 

Define supplementary angle. Give its two examples also.  
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5. fdlh csyukdkj LraHk dh f=T;k 25 lseh gS vkSj Å¡pkbZ 3.5 eh gSA ` 10 izfr eh2 dh nj ls bl 
LraHk ds oØ i`"B ij isaV djkus dk O;; Kkr dhft,A 2 

A cylindrical pillar is 25 cm in radius and 3.5 m in height. Find the cost of 

painting the curved surface of the pillar at the rate of Rs. 10 per m2.  

6. ukSaoh d{kk ds 30 fo|kfFkZ;ksa ds jDr lewg fuEu gSa % 2 

A, B, O, O, AB, O, A, O, B, A, O, B, A, O, O, A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O 

bu vk¡dM+ksa dks ,d ckjackjrk caVu lkj.kh ds :i esa izLrqr dhft,A 

The Blood Groups of 30 students of class IX are recorded as follows : 

A, B, O, O, AB, O, A, O, B, A, O, B, A, O, O, A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O 

Represent this data in the form of a frequency distribution table.  

[k.M & l[k.M & l[k.M & l[k.M & l    
SECTION – C 

7. 

53

5

−
 ds gj dk ifjes;dj.k dhft,A 3 

Rationalize the denominator of 
53

5

−
. 

8. lehdj.k x + 2y = 6 ds rhu vyx-vyx gy Kkr dhft,A 3 

Find three different solutions of the equation x + 2y = 6.  

9. ,d prqHkZqt ds dks.k 3 : 5 : 9 : 13 ds vuqikr esa gSaA bl prqHkZqt ds lHkh dks.k Kkr dhft,A 3 

The angles of a quadrilateral are in the ratio 3 : 5 : 9 : 13. Find all the angles of 

quadrilateral.  

10. ,d 'kadq dh Å¡pkbZ 16 lseh gS vkSj vk/kkj dh f=T;k 12 lseh gSA bl 'kadq dk oØ i`"Bh; {ks=Qy 
Kkr dhft,A  3 

The height of a cone is 16 cm and its base radius is 12 cm. Find the curved 

surface area of the cone.  
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11. 30 n'keyo LFkku rd 'kq) π dk eku uhps fn;k x;k gS % 3 

3.141592653589793238462643383279 

n'keyo fcUnq ds ckn vkus okys 0 ls 9 rd ds vadksa dk ,d ckjackjrk caVu cukb,A 

The value of π upto 30 decimal places is given below : 

3.141592653589793238462643383279 

Make a frequency distribution table of the digits from 0 to 9 after the decimal 

places. 

[k.M & n[k.M & n[k.M & n[k.M & n    
SECTION – D 

12. xq.ku[k.M dhft, % 5 

xzyzxyzyx 1624121694 222
−−+++  

Factorize : 

xzyzxyzyx 1624121694 222
−−+++  

vFkokvFkokvFkokvFkok    

OR 

xq.ku[k.Mu dhft, %   5 

2233 6128 abbaba +−−  

Factorize : 

2233 6128 abbaba +−−  

13. ,d f=Hkqt dh Hkqtkvksa dk vuqikr 12 : 17 : 25 gS vkSj mldk ifjeki 540 lseh gSA bl f=Hkqt dk 
{ks=Qy Kkr dhft,A 5 

Sides of a triangle are in the ratio of 12 : 17 : 25 and its perimeter is 540 cm. 

Find its area. 
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vFkokvFkokvFkokvFkok    

OR 

,d o`Ùkkdkj dq,¡ dk vkarfjd O;kl 3.5 eh gS vkSj ;g 10 eh xgjk gSA Kkr dhft, % 3 + 2 

The inner diameter of a circular well is 3.5 m. It is 10 m deep. Find : 

(i) vkarfjd oØ i`"Bh; {ks=QyA 

 Its inner curved surface area. 

(ii) ` 40 izfr eh2 dh nj ls blds oØ i`"B ij IykLVj djkus dk O;;A 

 The cost of plastering this curved surface at the rate of Rs. 40 per m2. 

14. 2 cPpksa okys 1500 ifjokjksa dk ;kn`PN;k p;u fd;k x;k gS vkSj fuEufyf[kr vk¡dM+s fy[k fy, x, 
gSa %   5 

ifjokj esa yM+fd;ksa dh la[;k 2 1 0 

ifjokjksa dh la[;k 475 814 211 

;kn`PN;k pqus x, ml ifjokj dh izkf;drk Kkr dhft,] ftlesa (i) nks yM+fd;k¡ gksa (ii) dksbZ yM+dh u gks 

1500 families with 2 children were selected randomly and the following data 

were recorded : 

Number of Girls in a Family 2 1 0 

Number of Families 475 814 211 

Compute the probability of a family, chosen at random, having (i) 2 girls (ii) No girl.  
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